http://sadie:15001/home/ph/GAP/GROUPRUNS/...

Transitive Groups of Degree 10

No Group Order|DimCA|CAZ DimGA|GrAZ Cycle_Index
1 10, 1 .5 2
1701 *10%2 75
1 C10=5[x]2 10 10 T 10 T 5 2
X5+§X10
_ 1 10 1.5 2.2
2 D10=5:2 10 10 F 10 F 10 X1 +§x2+§x5
1 10 1 .2.4
2051 tzX1*ot
3| D_1010=[D5]2 20 6 T 18 F 3
—x5+lx2+lx
10 X2 "5%5 T 510
1 .10, 1.2.4 ,1
%Xl +ZX1X2 +§
4 1/2[F5]2 20 6 F 18 F 5 1 2
XXy + & Xy
1 10,1 .2.4
mxl +§X1X2+
3.5, 122 1
5 F5[x]2 40 4 T | 34 FE |20%273%X1% "7
2.1 2. 1
X2X4+ﬁxs+ﬁ
X10
%X%O+24—5X]5_X5+
6 [5A2]2 50 6 | T | 18 | F | 1,5,8.2,2
10%2 T 25%5 *5
X10
1 10 1.2.4 1
== X7 +IXTX5 +35
7 A_510 60 | 3 | T | 42 | F [60! 342122 3
X1X3+§X5
1 10 . 1.6.2
%Xl +§X1X2+
8 [2A4]5 80 6 T 30 F 1 24 4 7
— XX~ + =X
16 7172 7575
1 .10, 2 .5
—=X3~ +3=XIX5g
o| [1/2p54212 |100| 4 | T | 34 | F [100°1 2571
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16| 1/2[2A5]D5 160 4 T 34 F
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17 [5A2:4]2 200 3 T 66 F

18 [SA2:4]2_2 200 3 T 66 F |+

1
19 [SA2:4_2]2 200 3 T 66 F 8
X

20| [5A2:4_2]2_2 200 3 T 66 F |+

21 [D5A2]2 200 | 4 T | 34 F 2571
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